Front Steel Grab Handle Set
2007-2018 Jeep JK Wrangler
P/N: RT27049

RT OFF-ROAD

Kit Contents
-(2) Grab Handles

- (2) M8 x 70mm Socket Head Bolts

(
(
- (2) M8 x 100mm Socket Head Bolts .
(
(

- (2) Short Spacers

- (2) Long Spacers - -
[ ——— e
Required Tools
- Ratchet -6mm Hex Socket - _
- 13mm Socket -Torque Wrench i e CRE—

Read all instructions carefully prior to starting installation.

1. Using a 13mm socket, remove the 8mm bolts just to the outside of the Figu (S 1
visor and on the top of the A-Pillar on the left side. Use caution
when removing the bolts as they can fall into the windshield frame Short Spacer
cover.

2. Slide an M8 x 70mm Socket Head Bolt through a Grab Handle,
followed by a Short Spacer as shown in Figure 1. Loosely thread
the bolt into the hole outside of the visor using a 6mm Hex Socket.

3. Slide an M8 x 100mm Socket Head Bolt through a Grab Handle,
followed by a Long Spacer as shown in Figure 1. Loosely thread
the bolt into the hole on the A-Pillar using a 6mm Hex Socket.

4. Tighten the bolts equally until they are snug. Torque the bolts to 17 ft.
Ibs.

5. Repeat steps 1-4 on the opposite side.

M8 X 70mm Bolt:

NOTE: The grips on the handles may start to twist and be easy to remove from
the handle over time. To solve this:

Remove the grip.
Remove any dirt and debris from both the grip and the handle.
Apply super glue into the grip and slide it onto the handle, ensuring the text is oriented correctly.

P WNR

Let the super glue dry for a few hours before using the handle.

While every attempt is made to ensure that the information contained in these instructions is correct, no liability can be accepted by the authors for loss, damage, or
injury caused by any errors in, or omissions from the information given. All service should be performed by qualified mechanics. Crown Automotive Sales Co .,Inc.
cannot be held responsible for any mechanical work performed. Standard and accepted safety precautions should be used in every procedure.



